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DIRECTIONS: ANSWER THE FOLLOWING QUESTIONS BY CHOOSING THE BEST CHOICE (a, b, c, or d).

1. Translation in which all levels of the SL text are replaced by TL material: replacement of SL
grammar and lexis by equivalent TL grammar and lexis and consequential replacement of SL
phonology, graphology by (nonequivalent) TL phonology /graphology is called............. translation.

a- restricted b- total c- full d- literal
2. Which one of the following is correct communicative translation?

a- It pursues the thought — processes rather than the intention of the transmitter.

b- It tends to overtranslate and to be more specific than the original.

- It attempts to produce on its readers an effect as close as possible to that obtained on the

readers of the original.
d- It tends to be more complex, more awkward, more detailed and more concentrated.
3. In which one of the following examples, semantic translation is employed?

a- SL: No refunds; TL: s gui a3 0uls s J 92

b- SL: No Smoking ; TL: ¢ gias csliilag Jlanivl

c- SL: Keep off the grass; TL: wi i as (yaa 59,
d- SL: It was as dark as coal; TL: s g3 cadi olics s

4. Every sentence occurs in a social context and associated with it there is a situation. All the features
which can be related to any sentence situation are called .............. :

a- linguistic features b- situational features
c- functional features d- distinctive situational features

5. Failure to find a TL equivalent due entirely to differences between the source and target language

linguistic substance is called................. .

a- translatability b- functional translation
c- cultural untranslatability c- linguistic untranslatability
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6. What kind of semantic relationship is in the words: car, bus, and truck?
a- Co-hyponymy b- Antonymy c- Incompatibility  d- Converseness
7. A lexical item which has not a meaning of its own but is used to relate the content words to one
another in a syntagm is called a ................
a- lexeme b- lexical item c- structure word d- vocabulary item
8. Which one of the suggested translations is more acceptable for the following sentence?
“The striking public service workers trickled back to work in Northern Belgium yesterday.”
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12. What is the function of the underlined part of the following sentence?

“The lecturer who will be invited is professor smith.”

a- modifier b- pre-modifier c- determiner d- qualifier
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13. What is the unit of translation according to the new trends in linguistics?
a- sentence b- text c- phrase d- word
14, 1. My mother gave me this apple.
2. This apple my mother gave.
Regarding the above sentences, which one of the following answers is correct?
a- Their textual meanings are different.
b- They have the same theme organization.
c- They are different regarding ideational meaning.
d- They have no interpersonal meaning.
15. Read the following sentence and decide on its suggested translation:
SL: Nearly all the sports practiced nowadays are competitive.
it il L 5 ki g 5 0 1S g pol 45 bl 9 4as TL
a- The translation is acceptable.
b- The translation is interpersonally wrong.
c- The sentence is textually untranslatable.
d- The translation is ideationally wrong.
16. Which one of the following is the psychological subject of this sentence?
“This apple, | was given by my mother.”
a-| b- my mother c- this apple d- by my
ol yicsalio yu) dlaa 5l ys daa 53 alas VY

SL: ...and in the end. Without any visible break. They become merged in the sea, and painlessly lose
their individual being.
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18. Which of the following is correct about “structure-for-structure translation”?
a- This type of translation is always acceptable.
b- It communicates the communicative meaning of the original text.

c- It communicates the communicative translation.

d- This type of translation is the replacement of SL structures by their parallel TL structures.
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21. In the sentence: “The captain corrected the list” has .................. ambiguity.
a- lexical b- structural c- syntactic d- textual

22. In the following sentence, the underlined partis a(n)....c.ccccecuerennenee .

Phyllis likes to rub elbows with artists and writers.

a- lexicon b- idiom
c- semantic structure d- content word
Qu.«.mu.«.ulo..\.uo.\.t.us.hau|ﬁJ4S‘r\A4.usL§|J4whAJJL’.AJAJ SN

To keep from smoking, | eat candy all day.
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a- antibiotic i gas b- acid-rain  (sasal ol b
c- texture s d- meta-language L 1,8
26. We define ............... of a word as the layer of meaning which derives from the image normally
associated with that word among the speakers of a language.
a- denotative meaning b- figurative value
c- collocational range d- referential meaning
27. Considering the following words, we can say that the word “suts” has a ... in Persian

compared with its counterparts in English.
rancid  butter

addled egg / o5

corrupt  person s E 0 (30

a- wider collocational range
b- narrower collocational range
c- wider denotational range
d- narrower denotational range
28. Which one of the following acronyms is translated correctly?
a- UNSA s ye suadie oYL b- NATO Gl
c-PLO sy d-UN UL (e jlea
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